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WORK SHEET NO. 3               Date__________ 

                  Month_________ 

Competency : Ability to Compute 

1. Calculate the interest paid: 

SL.NO     AMOUNT  AMOUNT WITH INTEREST    INTEREST 

1 Rs. 600 Rs.680  

2 Rs.5000 Rs.5500  

3 Rs.956 Rs.1500  

4 Rs.678 Rs.1000  

5 Rs.723 Rs.850  

 

 

2. Complete the Table: 

SL.NO        ITEM BOUGHT FOR SOLD FOR PROFIT OR  

LOSS 

BY HOW  

MUCH? 

1 1 Kg Peas Rs.32 Rs.40   

2 2 Kg Apples Rs.108 Rs.119   

3 10 Pencils Rs.36 Rs.43   

4 30 Note books Rs.125 Rs.188   

5 1 Radio Rs.300 Rs.125   

6 1 T.V Rs.10,000 Rs.9999   

7 Table Rs.325 Rs.650   

Teacher’s Signature                                                      Parent’s Signature 
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